For each of the following six questions, determine whether the statement is true, false or uncertain. You must justify your answer with a one-sentence explanation to receive any credit.


1. Investors demand higher expected rates of return on stocks with higher standard deviations of return.

True.  Investors should expect a higher return on an investment when investment carries a higher level of risk (high standard deviation)





2. Suppose the NPV of a project’s inflows is positive at a discount rate of 10%. From this we know that the IRR of this project is greater than 10%. (Assume that project has an immediate cash outflow and all future cash flows are positive).





3. If the internal rate of return on an investment is positive, then the investment’s net present value must be positive.

False.  The IRR is the discount rate that sets the net present value of the investment to zero.


4. Hedge funds have grown enormously because of their high realized returns.
False.  Unlike mutual funds, Hedge funds are allowed to use aggressive strategies including selling short, leverage, program trading, swaps, arbitrage and derivatives.  It is not necessarily has to do with earnings over a given time period. 






5. The CAPM predicts that a security with a beta of 0 will have zero expected return.


 Uncertain.  CAPM implies  that security risk premiums (expected excess returns) will be proportional to beta.

.



6. The theory of diversification says that we can eliminate all the risk in an equity portfolio by holding a sufficient number of uncorrelated securities.  

       False.  By adding more uncorrelated funds or securities to the portfolio, it is possible to reduce risk, but not            eliminate it completely.


7. What is the value of a perpetuity of $10 per year assuming an interest rate of 12% and assuming the first payment is made
a. in one year
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b. in seven months
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8. What is the approximate price of the following bond? It has exactly 10 years to maturity. It pays a 7.2% semiannual coupon (i. e., we get $36 every 6 months.) Its yield to maturity is 8%. 







9. Assume that the standard deviations of the return on assets A and B are both 0.1. Their return correlation is 0. What combination of A and B has the lowest standard deviation?

Let C be the product of A and B then the variance of C can be computed as,
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Where E{A} denotes the expected value (or mean) of A.  Since
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We can now compute standard deviation of C as:
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As and example, if we assume the both A and B are zero mean then
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This is an order of magnitude smaller than the original standard deviation of A and B.



10. What should happen to a stock’s price when it is announced that it will be dropped from the S&P500?

Recent data on S&P 500 deletion suggests that there is a significant short-term price decline between announcement and change date, and a significant recouping of losses in the next two weeks.  In fact, losses are nearly fully recovered by the sixth day after the change.  Size of the issue and price of the stock do affect price changes in the short run, with smaller size and less price stocks experiencing a greater  percent loss after the announcement date.  However, over the longer-term, neither size nor stock price matter.
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11. On the diagram above, assuming there is no riskless asset, draw a picture of the efficient set: the set of portfolios that could be chosen by rational risk-averse consumers.
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The diagram above shows the net present value profile for two investments. Both require an initial investment of $100; the remaining cash flows are all positive.               ,
12. Which investment has the bulk of its positive cash flows later in the investment’s life? Why?

A has the bulk of its positive cash flows, higher NVP




13. Which investment has the higher internal rate of return? Why?
A (0.06) is higher than B (0.04)





.
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The above graph gives the weekly excess returns on an asset and the SPX over almost 2 years.

14. What can you say about the relative performance of this asset?
Since they are correlated we can predict one from the other.



15. What type of an asset do you think this is? Why?






16. Which has the higher standard deviation over this period: the SPX or this asset? Why?

Since SPX has larger range, it also has larger standard deviation.
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The diagram above shows the net present value profile for two zero-coupon bonds.

17. One of the bonds is a 5-year bond and the other a 10-year bond. Which is the 5-year bond? Why?

A is a 5-year bond B is a 10-year bond





18. One of the bonds is a government bond and the other is a corporate bond. Which is the government bond? Why?
B has a higher risk of default because of the higher maturity length.  It makes B a corporate bond.  A is the government bond has a lower risk of default.

19. Suppose a preferred stock pays an annual dividend of $3 is currently priced at $60. If the next dividend payment is to be made in 12 months, what is this asset’s rate of return (IRR)?
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20. Suppose a preferred stock pays an annual dividend of $3 is currently priced at $60. If the next dividend payment is to be made in 3 months, what is this asset’s rate of return (IRR)?
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